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HSSC Advt 15/2019 Dental Hyglenlst Questlon
Paper Held on 16 July 2021 '

1. many mail servers use the
..nhs called POP servers,

q\] Post Office Protocol
(B) Postback Offer Protoco]
f_(g) Ping Office Protocol
(D) Pop Out Protocol

Smaller elevation on some Portion of t
produced by an extra fnrm

(A) Tubercle B)

(C) Ridges

2 )
by the Haryana Urban DevelopmmitAuherny
(HUDA,) are chiefly looked after by
(A) Zonal Administrators -

(B) Estate Officers

(C) Chief Administrators

(D) Chairman

Identify the methods of insulin adr
(A) Subcutaneous injection with syring

(B) Insulin pen

(C) Continuous subcutanaauslnsu
infusion with a battery operated i
pump -

(D) All of the above

5. The Kuna Mound an
are found in whlch of |
Haryana ?

(A) Fatehabad
(C) Nuh

8. Indicator colour
of the solution.
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8. Who among the following cricketer given

below awarded Rajiv i
A Jiv Gandhi Khel Ratna

(A) Rohit Sharma

(B) Virat Kohij

(C) Rishabh Pant

(D) None of the above

9. Interms of area, Haryana is the

largest State of India.
(A) 20" (B) 25t
(C) 22 (D) 21

10. The L( i

eeth derive their nam

from the rominent .
Rt thg e » Well-developed comer
(A) Incisors (B) Canine
(C) Premolar (D) Molar

1.

Apposition of dental hard tissues occurs at
(A) Cap stage

(B) Early pell stage

(C) Advanced bell stage

(D) Bud stage

The average of 6 numbers is x and the
average of three of these is y. If the average
of the remaining three is z, then

(A) x=y+z (B) 2x=y +z

(C) x=2y +2z (D) None of these

Identify the correct step in the Production of

a Digital Radiograph.

(A) The sensor, direct or indirect is
encased in a aluminium sleeve held
in a sensor holder and placed in the
patient’s mouth.

(B) The sensor, direct or indirect is
encased in a plastic sleeve held in
a sensor holder and placed in the

patient’'s mouth.

(C) The sensor, direct or indirect is
encased in an iron sleeve held in
a sensor holder and placed in the
patient’'s mouth.

(D) The sensor, direct or indirect is
encased in a copper sleeve held in
a sensor holder and placed in the
patient’s mouth.
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14. . This dance jg Performed i, Haryana on the
Sixth day of the birth of 4 i :

: Male child, What is
it known ag ?
(A) Gangore (B) Chaupalya
(C) Chhathi (D) Saang

185.

The Revolt b Raja Ajeet sip. h

the a_nnezgaﬁoyr'] mJ hi{':h Elfsthg fell?gwtﬁvg
Principalitieg in Haryana ? '

(A) Ambaia - (B) Ladwa
(C) Halahar (D) Kaithal

€ poorly nourisheq

16, may b

becayge tobacco yge
(A) Increageg appetite

Decreages appetite :
(C) Maintain good appetite il e
(D) None of the aboye

19. TheAgrb-.climaﬂc;Zhﬁal-“
the Eastern Zone is locate
of Haryang 2

(A) Ambala

(C) Sonipat

20. Who is the founder
(A) PBf-IHQVa__i_';_ ran
(B) Wilhelm Co

21, Aisthe son of B,
and a daughter
D. Ho ny.
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Which river
0
lacier 7 Onates from Champasar 15/2019
(A) Ghaggar B 23, ﬁ:"ﬂ T4 T : “}
(C) Yamuna (B) 3araswat| (A) g L8, HHH%% 7
f rkand : 1B) HieH;
Which of the iy £ d (C) ‘
does not sh arg';&v-gng districts in Haryan ’JE?T (D) 7rFe
State ? oundary with anofhey- 24. &ty = Freaferfm 34
(A) Charkhi Dagi T TR 1oy - PH-ET e sy
(C) Fatehabag EE:J' gamar P ﬁ@??.:ﬁ A T e
eWari FTT '
Which of the ¢ (C) Fiterare (B) 3
JI ® - 3
?:)nfhk“'a district of | Haryana g TU° 2bout | 25 B % e 4 mz: -
twas fo : > = i L EL SN S5
= HaryanaTMEd as the 17 district of ﬁ'q-’ﬂ’q-m e qﬁ?? IR 7 - I
Pinjore is part (A) BREm % 175 R 3 :
€) The district s devery o U2 T mmﬁ%mmﬁmm
- Tar Oid of any Perennia| (B) fosir g w1 e 2
The district jjes i i -
Pave oo ot " | (85 o 9
. qua ) 7® m;;%aﬁﬁm%aﬁﬁqﬁ
Wwo inﬁnitely long i =5
CUITeNts in same dieaglol Wires cary equal | 26, ot 2
at a mid point rn%é’m'hlﬁcmﬁgré‘f‘“ =5 gwm > T T G 4 R
(A) Square of the magnetic fiald i SR T 92 = 81 2 o 3 g
(B) au?fmfeﬂch ofthe wires  © o ced el e e firg TSR 2 B
3 . s 2 .
to ?aghtgi? the wires. 10 Produced dus 2 mmmum TR &
(C) ;I'mce the magnetic field produced due i S ¥ T
(D) 2.53ch of the wires C) I 1 A 39 o v = 2w
(D) ===
The process of ! a Stsea e o s & =i
processes as the fluids in the c::;ln:;ﬁta; &= e @‘H@m 0 T 2 il
constantly strive to maintain equilibriumn. g{@%?] e TG T
(A) Demineralization
(A) femafsferm

(B) Remineralization HaryanaJobs.in

(C) Both (A) and (B)
(D) None of the above

When an electron hits the nucleus of the
tungsten atom, all of its energy is
converted into a high-energy X-ray photon.

(A) Nuclear (B) Kinetic
(C) Chemical (D) Sound

If &« means x, § means +, y means — and
8 means +, then what is the value of

200205310y 58157
(A) 35 (B) 50

(C) 60 (D) 70

£(C) (A) 3T (B) Bt

(D) I A § =E T
28. ST U Seieiie ST U] 3 S & 2o
%,aaﬂm___mﬁ@ﬁm
T~ (0T B o UETe B S S |
(A) TR (8) T
AC) THERE (D) &=

29. I o TG0 X, B FI UGTE +, y F
AT — 3 0 F A + B, T A A

|1 ] |1 12, 7
208245p10758157

(A) 35 =B 58

(C) 60 DT

2 @Y renf AL
2‘" J-.-r"‘.'

P o e -
&Jﬁ“{r!lﬂ s’k _l’\



www.HaryanaJobs.in

Owing Statements;

: Flood plajng formed by
Ghaggar river in Haryana js called Nejj;.
Statement B : Floog plains formed by
Markangda river in Ha an;

ais called Ghar,
Choose the co Ption from bejgy
(A) Statement A correct; Statement g i
incory
(B) Statement Ais INcorrect; Statement g
Co

m, the oldest and still-in-use
réservoir i India is buift across which of the
owing riverg 7

(A) Cauvery (B) Tungabhadra
© Kishna (D) None of the above |

N
: = S
32, Alumin,a_pur__qelain. was deya#onedby || ¥3%
J. W. MeLean ang T. HHughesmthe)rear ul)
(A) 1865 (B) 1955 il
(C) 1965 (D) 1985
33,

an_ti,ma_laﬁar,___‘ T
(A) Primaquine

<(C) Quinine 0

(C) 6to 12 years

(D) 12 years and
35. Hard avascula
(A) Dentin

4 I L
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37. There are a total of

20 teeth | -
dentition, eeth in the primary

: 10in each jaw. Each jaw has
(A) 2 incisors, 4 canines and 4 molars
(B) 4 incisors, 4 canines and 2 molars
(C) 4incisors, 2 canines and 4 molars
(D) 2 incisors, 2 canines and 6 molars

38. Arch traits distinguish

(A) Teethin the primary dentition from the
permanent dentition

(B) Fcu.!r classes of teeth, namely-incisors,
canines, premolars and molars

(C) Teeth within one class

(D) Maxillary from mandibular teeth

39. Thesstofi i i
to Berfoih Vanoys A o o Puter
(A) Data output
(B) Computer program
(C) Software

(D) Big data

40. Arrange the given words in the alphabetical

order and choose that comes Is:st.
AA) Actuate (B) Accumulate
(C) Acquit (D) Achieve
The mean of 50 observations was 36. It was
found later that an observation 48 was wrongly
taken as 23. The corrected new mean is
(A) 35.2 (B) 36.1
~(C) 36.5 (D) 391
. commonly referred to as tooth
decay, is one of the most common of all

41.

42.

?};S)E%ﬁlip - 4B) Dental caries
(C) Gingivitis (D) Periodontitis
43. At least of the body's calcium is
found in the skeleton and teeth.
(A) 40% (B) 60%
_(C) 80% (D) 99%
m the word

44. The word computer is derived fro
‘compute’ which means

(A) Solve (B) Decode

15/2019 (1)

37, M S g # v
&1 B €, T e 3
(A) 2%!'4?33.33%?4'3??%
(B) 4 %0, 4 957 2fit 2 v
1C) 4%:2 ﬁaﬂa'ﬂf-ﬁam
(D) 25d%, 2 va5q ik 6 9=

19 T
(A) ’{]Erﬁﬁ & famg

S & 10, 7 20

38. FH T SR

| T 5 famg o

|

~(B) 3i % = =, w191t — g, v,
TS ST 99

(C) W d st

(D) Afeaer & AR =fq

39. TRl witeert = FweR =01 36 o S
o e e = v A
(A) S Fria i

40. 13U U oe=l = SoiAEn % A W EeE iR
TEY TG § AT 68 = 5H, |
(A) Actuate (B) Accumulate
(C) Acquit (D) Achieve
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(B) 1857 Reyop
© Rearga satj

<0 D

i What = (D)
(:J’Yana ? nt by Betre Ki
Sandy d :
(B) Rack{r S

T © onyi St ey
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‘ 15
Why was Rania pl‘iI'ICipaiily of Haryana /2019 (1}
annexed by the British East India Company ? 5. ERam A ufE famgm w5 G $ e
(A) Incapability of Rani Ram Kaur 1 A T e o 7
(B) Revolt by Raja Ajeet Singh (A) T Im ?thﬁ HW
(C) Death of Rani Chand Kaur &) Eﬂm il 278 g e
(D) Revolt by Nawab Jabit Kh (C) 1 =18 1 i gog
Whkhor it (D) 7T Siferd T 2r faere
i e following principalities in Haryana 52. EfETEF w o e .
supported the British duri 5 iﬁﬁfﬁﬁé‘ﬂ_\ 1 H e famaa 3 1857
: sh during the 1857 Revolt 2 & g ¥ v %Waﬁﬁ?ﬁm?
(A) Jind (B) Panipat
() Bah : (A) e ®) W
a‘ adurgarh (D) Dujana (C) Er&'iEUTE (D) ST
E:rr?a!::s?is located north of which river in 53. Teww werfeat wfamon § frmm v 3 v i
e
(A) Ghaggar  (B) Yamuna
A) BT
(€) Markanda (D) Saraswati Chotang Ec::; nrde g m@#{ e
Relationships are formed between the prima 54. forit 2o ¥ rewl i Fie ot =g wan
key field in one table and e A TSI Enl THITE A g6 T iEm
field in another, can:da&eme carresponding ?ﬁﬁ %'%! dodn e, R =
(A) C‘C:mdidate key (B) Foreign key (A) Ffezz H (B) SRR
(C) Primary key (D) Super key (C) wrgw = (D) TR
This lake was built under the supervision §5. BT A HerH Friva 1ose TR
of Le Corbusier in 1958 in Haryana. It was e o e o | s 1 gse i andafiy
declared as a National Wetland in 1988. PlEGRE D o B S T Lo
Where is this lake located ? : At
(A) Chandigarh (B) Kurukshetra (A) SEITE (B) Fear
(C) Faridabad (D) Karnal (C) HIEETE (D) F
Which of the following statement is correct ? 56. Fefvfea i asR-masmw=?
(A) Non—glass-based ceramics are (A) =i Uea gt s S o= S =
non-crystalline based with no glass e TR IR R S |
matrix. ' (B) == T HiHS 9 & g % Fviy
(B) Non—glass-based ceramics are NI
i ed with glass matrix. s B RY oiis
oo b ¥ (C) Htel e Hier =t 3 1w
(C) Non-glass-based ceramics are o S
. line-based with glass matrix. AHT A=A |
non-crystall . toa AR A
(D) Non—glass-based ceramics are (D) =i e Hitfer S S
crystalline-based with no glass matrix. F0 SR IR TR E |
means that a health care | 57. __ F TR TR ﬁ‘f"‘:‘; A
provider's first obligation to the patient is to 1 T TS T 21 7S Bl A TE |
do not harm. _ (A) ST (B) TR
A) Non-maleficence (B) Beneficence
(A) No (C) Tl (D) TRt

(C) Autonomy (D) Paternalism
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58.  The torque acting on a body is the rotational 68. Torlt Frehr vt o o e 216

analogue of

(A) Mass of the body ) ﬁmﬂmgm A
(B) Linear kinetic energy of the body (B) mﬂmmw
(C) Linear velocity of the body (C} ﬁmaﬁrmqﬁ i
(D) Force in linear motion (D)‘tﬁqa;nﬁfﬂaﬁ |
59. Long depression or valley on the occlusal 59, ﬁeﬁﬂﬁ%ﬂﬁwwmaﬁﬁm
surface of the posterior teeth, the inclines of By SRSl YO 7 ey et
which meet at an angle St o R i a: &
(A) Fossae (A) gt |
(B) Sulcus (B) Ty
(C) Developmental Grooves C ﬁﬁ?l’ﬂ]?qa;
(D) None of the above :D; E‘Iﬂ?ﬁﬁﬁgﬁqﬁ '
60. anesthetics are Ithe most 60, @ﬁﬂm :
i B | S ek —
frequently used dry s for dental and d EGInT A N '
hygiene treatment. L gl g el
(A) Local RUEED
(B) General
(C) Spinal

(D) None of the above

61.  Which of the followi statement is co ? 61.

(A) Dental caries igga hnn—infec_ﬁuusr.md Bl
transmissible disease and it is
preventable, .

(B) Dental caries is an infectious,
transmissible disease and it is also
preventable. =

C) Dental caries is a non-infectious,
transmissible disease and it is
non-preventable.

(D) Dental caries is an infectious,
nomﬂansmissibl&.diseaqe:and it is
non-preventable. A

T S MRS o) T
62. Criteria to be met to establish an exposure | g2,
as a risk factor sl
(A) Exposure must precede the onsetof
disease or health condition. 1
(B) Exposure must covary withthe |
frequency of the disease or health l of
>

condition.
(C) Observed associatior
to bias or error in s
measurement or d

2021/7/16 1
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63. The prosthesis is rinsed under
(A) Running water
(B) Stagnant water
(C) Chemicals
(D) Reagents

64. Traditional film-based systems to record
radiographic images have been in existence

in dentistry since
(A) 1985 (B) 1835
(C) 1895 (D) 1795
65. Nutrients obtained from foods are the
following
(A) Water

(B) Proteins and carbohydrates
(C) Fats, minerals and vitamins
(D) All of the above

66. \What are Mawath rains in Haryana 7

(A) The rain that occurs during the
monsoon season

(B) The rain that occurs due to western
disturbances '
(C) The rain that occurs only in the
afternoon : : .
(D) Convectional rainfall that occurs a
different times of the year
g7. Collection of programs which utilize and
enhance the capability of the hardware
(A) Monitor (B) Mouse

(C) Software (D) Printer

68. Match the following provinces ?f :
Chandraguptha Maurya given in L‘Ist —:6..
with their headquarters /capitals given In
List—B.

List—A List—B
a. Prachya + Aua_ntl
b. Dakshinapatha 2. Taxila 3
. Uttarapatha 3. Suvarnagirn
d. Paschimapatha 4. Pataliputra

(A) a—3,b-1,c-4,d=-2
(B) a—4,b-3,c-2,d-1
(C) a-—2,b-—-3,c—-1,d—4
(D) a-4,b-2c-1d=3

15/2019 (1)

63. WRIREE ! He g s R |
(A) =eid I

(B) e arft

(C) TETIAT

(D) =it

64, feATmite wrnf=E] o AfeiRad % & fog,
uriafies fthew st sonfeai <a fafwe o
THSEE |
(A) 1985 (B) 1835
(C) 1895 (D) 1795
65. SH & W e ST et s Refefea
(A) i@
(B) M A FETREEE
(C) =&, =y 3 &
(D) F HH!
66. EENH UES IRIFNE 7
(A) HHEH % HiEH | 2 e antE
(B) afgesh fei 3 o e STe i
(C) Fae aet W B ared =i
(D) S T e~ S YW T =T
g i

67. AT = AHTEA S ESAAE Tt Gl AT
AT & 3T I wE
(A) HHZ (B) WSH
(C) TR (D) T

68. T — A fRn T e iV o i st
5 — B R T o e T
Y it i |

HET-A T -8
a. A 1. A
b, 2faumTY 2. FEE
¢. T 3. G
d. afs=ray 4, AT

(A) a-3,b-1,c-4,d-2
(B) a—4b—3,c=2,d-1
(C) 3_21b—-3,ﬂ—1,d“4
D) a—4,b-2=°"1-d'3

A41-
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69. The Roz-ka-Meo industrial estate of
Haryana js located in

(A) Faridabad
(C) Sonipat

(B) Manesar
(D) Gurugram

70. The Khokrakot sites are associated with which
of the following districts in Haryana ?
(A) Rohtak

(B) Yamunanagar
(C) Sonipat

(D) Panchkula

71. How Mmany wetlands are recognised under the

Nationg| Wetlands Conservation Program in
aryana ?

(A) 3

B) 4
(C) 2 o

(D) 1
72.  Identify the Private Practice Methodology.
(A) Takes survey or makes observations
about a population
(B) Identifies chief complaint
(C) Conducts literature review

(D) Develops research question or
hypothesis :

73. The power to prescribe the number of
Judges in the S_umgmﬁ"ﬁnmt??df_}’l_ndia is
vested in
(A) The President of India
(B) The Parliament
(C) The Chief justice of India
(D) The Law Commission

{
%% |

(A) Hypercalcemia  (B)
(C) Hypernatremia (D)

75.

(A) Case series

1
- u
-

(C) Statistics

1512019 (1)
69. B 1 U511 siteitirr we wet
(A) Fi=mre ~ (B) TRER
(C) HiHffwa (D) ™
B 2

70. GIHHIE I B 3 fis
(B) TR

(&) TETH
(C) HHHtTT

et STl 2t e mé 4 2
(A) 3
©) 2

2021/7/16
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Microcomputers are generally referred to as
(A) Personal computers

(B) Analog computers

(C) Super computers

(D) Mainframe computers

This lake is located at Thanesar of Haryana.
It is also mentioned in Kitab-ul-Hind. Identify
the lake.

(A) Badkhal lake

(B) Surajkund lake

(C) Brahmasarovar lake

(D) Sannihit sarovar lake

The association called “India House" at
London was established by

(A) V. D. Savarkar

(B) Hardayal

(C) Madan Lal Dhingra
(D) Shyamiji Krishnavarma

Breeding of fish in specially constructed tanks
and ponds is called as
(A) Pisciculture

(B) Aquaculture

(C) Sericulture
(D) None of the above

is the number of new cases of
3 disease in a population over a given period
of time.
(A) Incidence
(C) Frequency
Primary memory is also known as
(A) External memory
(B) Pen drive
(C) Internal memory
(D) Secondary memory

(B) Prevalence
(D) None of these

are the largest and most
powerful computers.
(A) Super Computer
(B) Minicomputer

Jobs.in
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76.  HTGHERRRU ] HIHA: TR S E |
(A) ﬁ@ﬂw

(B) TS L

(C) YT R

(D) HTHH FT

e e e FHarer i fer t | frae-sa-fe
T 35 Sooi@ o & | TREE-di e R 7
(A) EEw Hie

(B) LS Hiet

(C) TR siid

(D) wf=ifEa wo= sl

e 1 sfer vea’ ATees wE ARl e
Torereh g Rt 7 oft 7

(A) =1, 2. TETE

(B) AT

(C) He e SRI

(D) waTst FHeorEm

9w =9 @ il 3= sl vivs ¥ owstt %
ST ] A SRS © 7

(A) TS WTEH

(B) ST M

(C) W ITEA

(D) IR HAY FTRAH

s & e vty o s e i

Teh UM 3 0 fraEn e |

(A) ¥ (B) SATIR

(C) st (D) T8 U =8
sefives HeT FEA T |

(A) STeI WARE

(B) W gred
(C) SATATER B

(D) e

g 52 ST TR e
FARATE |
(A) R FAS

(B) S
(C) TSI FAX

78.

T9.

80.

81.

82.

(C) Micro Computer
(D) Personal Computer

(D) T FAX





